2016 (A) A

: SSC PART-| (9th CLASS) o
GENERAL MATHEMATICS GROUP- - S
TIME ALLOWED: 2.10 Hours SUBJECTIVE ‘Lo £an =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number iy 2 @/),-,‘}zm"dlm{df@z oy

and its part number on answer book, as given in the question paper.
SECTION-| Js.2

2. Attempt any six parts. 12=2x6 é//utfiﬁl/iicd/ -2/ J‘f
() Define Antecedent & J/’Juw(f ¢ )
(if)  1f 40 books are increased in the ratio of 5 : 4. "J/U l»’JJ u’&umme 40 LerS 504 i)
What would be the number of increased books?
(i) Find the ratio of 8 rupees each to 72 rupees per dozen. a’r}kum.u’ nda_u 12 e 8 (il
(iv)  Define "Nisab" Z-(J/’u( “ (Iv)
(v} Calculate the amount of Zakat on an amount of Rs.500000, i.((:l” f//( JLu 500000 (v)
(Vi) Find CP when SP = Rs.672 and Profitis 5 %. 5 5% gy 672 = eijed bienied ()
(vi)  Define Discount, ﬁ{»ﬁ’/"b (vii)
5 8% LAy 128 = edeilnk i}}w,/.x (vii)
(viii)  Find the selling price when MP = RS.728 and discount is 6 %. .
(i) Define Commercial Banking. - s, J/’JﬂJ’ / (ix)
3. Attempt any six parts. 12=2x6 5/futfi£’/ 'ir—d/ 34y
(i) Whatis meant by Cheque? ?‘E"'/lf(""% ()
(i) Define Tax SV
(ii)  1f the annual income of a flat is P B A UG 15 g 600000 BTtk 2B i)
Rs.600000. Then find the tax payable at the rate of 15%. . L
(iv)  Wite 0.051 in Scientific Notation, i 0ot
(v)  Solve, log8! log8l - SLf )
log9 . log9 .
(Vi) If logx = 0.5019 then find the value of x Sl s dn logx=05019 A (v)
(vii)  Write the first three terms of a, = n + 3 -ufﬁrijuf S a, =n+3 (Vi)
(viii)  Define the Arithmetic Mean, 5 Y Wb’ (viil)
() Find the GM between 3 and 27, Sl ol 2143 (i)
4. Attempt any six parts. 12=2x6 5//.«“:’5!/ ’iadf «4/0'“

P AN M B={13579) 4 A={23570} 4 ()
() Find 4NB, if 4={2,3,57,11} and B={1,3,57,9}

Z.}P’C“mu‘»‘& R={(4,4),(55) (66)} it (i
(i) Find Domain and Range of Binary Relation R = {(4,4), (5,5), (6,6) }

ZZJ Ui )




2016 (A) A
SSC PART- (9th CLASS) - -

GENERAL MATHEMATICS GROUP-I PSR

TIME ALLOWED: 2.10 Hours SUBJECTIVE il 210 =

MAXIMUM MARKS: 60 | 60 = Af

NOTE: - Write same question number -+Gj;uizr{41rﬁjé (’//)/’,))'ZJ}‘/’,}J’}’U‘){QKQ‘)Z 0y
and its part number on answer book, as given in the question paper.

SECTION-l .o

2. Attempt any six parts. 12=2x6 -é,//auzérz'gcd/ 24y
(i)  Express % in percentage. -“éd,fu’fd/ydf —3—% (i)
(i)  Define Compound Proportion. ' -"é.?y /UZJ/./C (ii)
(i) If45 % students in a school are girls. oL ynaedE LIS as % p2JELS i)
What will be the percentage of boys?
(iv)  Define Inheritance. ) :é ] /Uf ks (iv)
(v) Calculate amount of Zakat on an amount of Rs.5,00,000. : -{5()‘-‘” M Fﬁgf/d%.u 500,000 (v)
(vi)  What is meant by Discount? i ' ?9.)1/92.&;%’ (vi)
(vii)  Find CP, when SP = Rs.672, Profit="5% o 5%=0 &y 672 = 3y .,éép%/@j" (vii)
. 5% = oA & 2760 sedoblnfdPesjed (i)
5. -
(vii)  Find the selling price, when MP = 2760, Discount=5 %
(iX)  What is meant by Cheque? | | s /lfr..ﬁ (iX)
3. Attempt any six parts. | - 12=2x6 -cf//utliﬁfﬂic.d/ 340
() Whatis meant by Maturity? "c.:l/Lfc;d/i' (i)
(i)  Whatis meant by Tax? u/uf;.uc (il
(i) Acomputer's price is Rs.34800 S ed Pt -4_Jt/f)’ 16% Viu? -c-en 34800 <A ndll (i
inclusive of 16 % sales tax. What is the original price of the computer? |
(iv)  Define Characteristic. -é . /U.»l& (iv)
(v} Solve log,(x-2)=1 S log(x-2)=1 )
(vi) If logx =0.1597 thenfind x =? -{;pb’ogd/ x #n logx=0.1597 (vi)
(vii)  Find first three terms of @, = (-1)" n’ -gf,rk*r}/d&iwl}n a,=(-1Y"n i i

Fpedf n ra,=av(n-1)d 4 a,=400, a=10, d=5 i
(vii) Findthe valueof » if a, =400, a=10, d=5 and a, =a+(n-1)d
(ix)  Define Geometric Mean. iJ/’JMd/ (ix)

4, Attempt any six parts. 12=2x6 é//utiiﬁiﬂ;c.df 44y
G oAne W C={3,457} 4= {1478}/ (i)

() I 4={1,47,8} and C={3,4,57} thenfnd ANC =2
e xxy Wy={der}ax={189}/

i 1 Xx={7,89}and Y={d,e f} thenfind XxxY
(é.’f)'/))



PAPER CODE 2016 (A) yoy

NU%BER, 5267 SSC PART-l (9th CLASS)

GENERAL MATHEMATICS GROUP-! o) Pz
TIME ALLOWED: 20 Minutes OBJECTIVE ob;/’,a? o220 = &y
MAXIMUM MARKS: 15 15= AF

S i\ I3 QL M erne Jrs & Ly Q6317 -t LEs D 81 C B A 2z Bl o2
V! .fé_.lgg)uf.{}:‘;&fu:;uf‘;i_/gi Bubbles -gﬁ/ﬂwylﬁuﬁu:azﬂd/é,& S ¢ L//;fu,}bup:.,g Al

Note: You have four choices for each objective type question as A, B, C and D. _Q_‘/QJ’};:.UV{,;{.QV

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Zakat is deducted at the rate of - -c‘-@m;c} ST Y
(A) 3.5% (B) 2.5% (C) 45 % (D) 5.5 % .
(2) Profit is earned if - (A)SP=CP &isjed = 4/ud -:ﬁ‘atWJ‘ S
(B)SP<CP wiyjnd < 4ied (C)SP>CP whjed > 4ied (D)SP < CP wiyfed < 4ied

(3) The return earned by the bank on loan is named as:- -4‘:.(:5!1:( ‘c"..t/J’ bbbt ()
(A) Bonus (B)Markup ISl (C) Premium (¥ (D) Profit 2t L

(4) The amount whicrj is paid by the bank on the deposits is called:- -q?icf%tﬁ:l ;;ZJ./?(A%'/ v (4)
(A) Bonus ¥ (B) Premium (%, (C)Markup oSt (D) Profit (b

(5) The tax in addition to the price of the article is 'called . | - d//f “ited 7 U/ (5)
(A) Tax Jg (B) Sales tax JC), C) Property tax u’c d/l/ (D) Income tax u’c f/

(6) The tax charged on the owner of a land, house, -c_wf ‘c‘..t'lab(gy ch:,.ﬁ LZ.VJVLJ’ u”u’u’cu (6)

flat or building is called:-
(A) Property tax L/ d/l/ B) Income tax Jgfl (C) Direct tax J“Cubgl/. (D) Indirect tax J"CJM:’Q

7)In V3 |, 3is called: <t 3 )
(A) Radical & (B) Radicand . (C) Integer méf (D) Natu;a[ ngmber :,«;8/,5

(8) Nexttermof 12, 16, 21, 27willbe-  (A) 30 (B) 31 (C)32 (D} 34  -(sfdif12, 16, 21, 27 (8)

(9) GM.between —3 and -12 is-  (A)£9 (B) £3 (C)#6 (D)+36 -chol ksl -12 4 =3 (9)

(10) f U={1,2,3,4 }and 4= {4 }then 4° =2 AC =79 A= {4}1,1 v={1,234} S (10
A{L23} (8) ¢ ©{1} D) {1,2,3,4}

(11) Coordinates of origin are:- -ugz.nawi s (1)
(A)(L1) (B) (0,1) (€)(0,0) (D) (L,0)

(12) The middle values of data arranged in numerical order is called:- -c.dl}vb’dwf’ u‘;lrg/o’( (12)
(A) Median k- (B) Mode b (C) Mean Ll (D) Weighted mean wad'uf

(13) 20 % of 600 is:- - 20% ¥ 600 (13)
(A) 120 (B) 20 (C) 12 (D) 200

(14) _;_ in terms of percentage is:- -c‘,ui‘f&éé% (14)
(A) 33 % (B) 1% ©) 33% % (D)3 %

(15) The share of a widow (in the presence of offspring) is:- - ( J 2l ) yu‘)wu’w%r (15)

1 1 1 1

® 5 ®) 3 € 0)

33(0bj)( 7 ¥¢ I 7)-2016(A)-23000 . (MULTAN)



PAPER CODE 2016 (A) 1y
NUNBER: 5264 SSC PART-l (9th CLASS)

GENERAL MATHEMATICS GROUP-II I - .;;j u‘” w 7
TIME ALLOWED: 20 Minutes OBJECTIVE g"”,/,p w20 = &y
MAXIMUM MARKS: 15 15= Af

Y. ol /b(/b.ch/dlb'éul!..fuc_u"u:/bcfz_x‘_l/é:Jlr//(}(dli u‘dfc..) D . CB:A utli,lepédl// -y
VI Kb A A § Lo, Bubbles  _¥nsSi it e §i ST Sk V&S nsie LI

Note: You have four choices for each objective type question as A, B, C and D. _q/ J’/}..,mq.;{.gv

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles wili result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. ‘No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) AM between /3 and 3.3 is:- bRl 33 4 3 (1)
A) 243 (B) 53 () 9v3 D) 443

(2) Foranytwosets 4 and B , AUB = BU4 is called:- -c.tMAUB BUA LEB adys
(A) Commutative property Jblse=b (B) Associative property (e
(C) De Morgan's law /#66/A(3 (D) Complement of two sets w:‘j;um:

(3) Fory=21in 2x - y=6 wehave x = ? x=7 &, y=2 U2x-y=6 (3)
(A) =2 (B) 2 (C) -4 (D) 4

(4) The score which occurs most often in a set of data is called:- -5_811»:( rLl;/uL)c,,/ui‘ﬂrJ;?d 2 (4)
(A) Mode ok (B) Mean Ll (C) Median _:b-s (D) Geometric Mean ki

(5) Fraction form of 70 % is- , o < P58 0% 5
(A) 7 ® 1o (C) = (D) 70

(6) %in terms of percentage is:- -g.ui'ﬁ}/»é % (6)
(A) 3% B) 1% (C) 33% (D) 335 %

(7) Zakat is deducted at the rate of - P NI ALY
(A) 25% (B) 3.5% (C)45% (D) 55%

(8) Ushr on a wheat crop produced on natural resources -98}'/&//“24?_» 1,50,000 &JLJ" pr f&y;éw&/ﬁ (8)

having amount of Rs.1,50,000/- is:- (A) Rs.10,000  (B)Rs.5,000  (C) Rs.15000 (D) Rs.20000
(9) Loss is there when:- (A)SP=CP w3jed = 4 iud Jetrgls  (9)
(B)SP > CP wiyjed > 4ied (C)SP < CP wipjed <ujed (D)SP=MP wsijed = BT

(10) The percentage of profit/markup charged is called:- -u’cf I C/Uf JJﬂ:J..JJ wjv (10)
(A) Rate <., (B) Time (/t (C) Interest s (D) Principal ”}ﬁ

(11) Amachine installed by the bank to dispense cash to customer is called:- -‘agfbff.‘f ?ﬂ,&?ﬁu? i Jgt s (11)
(A) Computer /yf (B) Scanner /’C (C)ATM f' ldc.l (D) Card reader .k 5§

(12) The tax in addition to the pnce of the article is called: - -u‘éff dulu‘ =4 ne /J( (12)
(A) Tax f B) Sales tax Jc X (C) Income tax JC (7 D) Exise duty (#3751

(13) The tax charged on all the taxable income is called:- -atﬂn( <« t‘btbﬁxd.«l mrwu@ (13)
(A) Sales tax ;/C e (B) Direct tax Jc “e~nlz (C) Income tax JC ,fl D) Excise duty d/:/lf I

(14) In 3 , 3is called:- GES 3L (14)
(A) Radical i (B) Radicand .5 (C) Exponent Ve d (D) Base Jil

(15) Third term of @, =n+3 is:- <A a,=n+3 (1)
(A) 3 (B)6 (C)9 (D)0

35(0bj)( ¥ W )-2016(A)-20000  (MULTAN)
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